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Question: C.n=4,1=2, m=-2,m,=-1/2

D.n=3,1=1,m=-1.m,=+1/2
e sfes &g wx =4

A: D<B<A<C

B: B<A<BAE

C: B<D<A<C

D: B<D<C<A

Topic: Chemistry-Section A

Item No: 63

Question ID: 1269463

Question Type: | MCQ




C(s) + Oy(g) — CO,(g) + 400 kI

C(s) +% 0,(g) — CO(g) + 100 kJ

Question: (IS 60% 5 FHA WAL AFIGHE B30 GLeT 2. 60%
PR <CO* (1 TSI T O (I (RN o, (61 T8 27| (Fhow

0.6 kg FHT GLARI BF, TS AN (1 OIF AT = |

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kJ

Topic: Chemistry-Section A
Item No: 64

Question ID: 1269464

Question Type: | MCQ

0.01 M HC19 200 ml 0.01M H,50,9 400 ml 9 #7519 e =1 ﬁ_ﬂf@ﬁp}l
Question: X I

ﬁﬂmlng 2=0.30.log 3=0.48. log 5=0.70. log 7= 0.84. log 11 = 1.04

A: 1.14

B: 1.78

C: 2.34

D: 3.02

Topic: Chemistry-Section A
Item No: 65

Question ID: 1269465

Question Type: | MCQ

SeT® SR (SRF I BH Sxo] (N T -
(518 FIBF 5% (K)
He 52
CH, 190.0
Question: CO; 3042
NH, 403.5

AG1 fRRE AT BLFeTs T WHTEe (2RI (51=6] 24

He

B: CH4




CO,

i

D: NH3
Topic: Chemistry-Section A
Item No: 66

Question ID: 1269466

Question Type: | MCQ

Question: fB (sn) T AT T (@A [R9RAIFI9T AfGars, 4G

A: SIHT 5157 R SR =

B: Sn P ATIS EER =

C: STl SFFILA O 2, IF U (ZeINIH Oelo (J < 730 =7
D: NaOH 9§ #1919 STIET =H |

Topic: Chemistry-Section A

Item No: 67

Question ID: 1269467

Question Type: | MCQ

©eT® 5T BfeF (Al 2
Question: Ofer I (BIE J61 WHE T2G201 GRIRS |
' OfeF 11 (BTaw 67 STea S|
8999 Oferd W e, [WEfEES [[ege 9@ &g Oes 9y Ofaed|

A Gfer 1 ST B 11 ARG 7o)
B: Oi & 1 S Gfies 11 YLABIR STy
C: i 1 5797 (58 T 11 o157ey

D: G 1 5079 (8 f@ 1 79
Topic: Chemistry-Section A

Item No: 68

Question ID: 1269468

Question Type: | MCQ

Question: HAHTTe RIS X YMH [0 [Rr61 F e 72w o | X 62

A: CaSO, - 3 H,0

C: CaSO,
D CaCO;




Topic:

Chemistry-Section A

Item No: 69
Question ID: 1269469
Question Type: | MCQ

IO TEFTF Co0 T 75T (BT GIF (V90 5190 F1 =, BT

Question: Tl et S e et
A: B,0;4

B: Co(BO,),

C: CoB40O4

D: Co[B4O5(0H)4]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

e (e, MEEs (FMGT 3d et W ST GeEEew

Question: R (5Hh3.-d) e ne
A C2T

B: Mn"

C: Felt

D: CoZ"

Topic: Chemistry-Section A

Item No: 71

Question ID: 1269471

Question Type: | MCQ

FE (II) T ARTADT GO 515N TR (PG (G (GAN) T A0S

Question: (SFTIET S (1) I GG HCIZSLSH B 515 TR (PO (YR
(en- 2IRfCTH GIRANIEH H,N-CH,-CH,-NH, )

A: [Cu(H,0)4]50,

B: [Cu(en)(H,0),4]80,

C: E?E{-[Cu(m)zﬂz]

D: L—‘Eﬂ-[ Cu(en),Cl;]

Topic: Chemistry-Section A

Item No:

72




Question ID:

1269472

Question Type:

MCQ

SRR GG 51 FeTaT7 (191, (5T O Ghele ([l HiE HEG

Question: BN B | VELIGHS WHEG [ATH 5181 TS 18 S AT qF
SRS ETE 5ifo 9 F4. =°d
A: NO
B: N03
D: NOE
Topic: Chemistry-Section A
Item No: 73
Question ID: 1269473
Question Type: | MCQ
Question: -V B (EHANSLANGZ 26 WG 515~ 2'F
0
|
i

B e Q/CHE —(C—H

O

||
’ [:l/\ H

? i

CHy—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474




Question Type:

MCQ

5T <4° 4 [ Y wfems S a9 g Mt | Gd B I &g

STHN F IR0 ¢ (IO Et T C,H;)

Question: >_< () Mg, E0 s B
(ii) D>0O
Br -
Compound 'A'
A Kchaal
p A ira
B: >_< , Chiral
QD
C: >_< _Chiral
D
D: >—/\UD Achiral
Topic: Chemistry-Section A
Item No: 75
Question ID: 1269475
Question Type: | MCQ
TS HiT Ofes [l Ig -
CH,
| NQ,
SeELES U WS |
-
tion:
Question Ci (A)
CHj
O,N
OfF I 2 | = WIS Jfelig 8299 (F99]
H SN
S CH,
w7 [Ty g Sleed|
A Of @ [ =16 Of e 11 {II012 ©%

Gfer 1 W16 Bfer 11 HITT012 W&




C: e 1 &7 [$@ Ofe [ o1&
D: Ofer 1 ©1® % (S Ofe I &%
Topic: Chemistry-Section A

Item No: 76

Question ID: 1269476

Question Type: | MCQ

(ST Z-NAF MG H,S0, T A1 519 F1 =, 40T (518 G AF =

Question: (IS g2 (STRLGT ST, 7Y (INRE [PIIFS HNIS 5 A9 [
BIIE 2, BN (=1 (5161274 -
A: FINAGRIRG
B: w1 afigs
C: BIEG |
D: YRS age
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 1269477
Question Type: | MCQ
Question: 215! (R =
0
Il
A: ~ |b| -Cl
| o
e
55 N,* ClI
B: l
S
4]
C: N K
4]
N=N
HO




Topic: Chemistry-Section A
Item No: 78

Question ID: 1269478

Question Type: | MCQ

Question: RIS (FCT BT Ao I2ram 99312
A oS~

B i

C: EGE]

D (3

Topic: Chemistry-Section A
Item No: 79

Question ID: 1269479

Question Type: | MCQ

O MBT G T ST BT FHEGTANG — A S ST F199 - R 125707 e 31
~..-<~..§| ?] 'S».Ei "-..-:aA,. ‘-{*I"EE 'gT ]\5 \""45 j' o

Auestion: T R: I BT W (314 O 19 200 © (F (A2 9T 933 T
W [y g Sieed

A: A ¥ R (V612 &% W< R TT AT &5 A147|

B: A< R AR &% [$F R, A T &% T2

C: A &7 [FE R &5 9271

D: A &7 =% [$F R &F |

Topic: Chemistry-Section A

Iltem No: 80

Question ID: 1269480

Question Type: | MCQ

AT G151 X T4 61 M ARG W & 9 SN NaOH ¥ CH;COOH I

Question: QeI [RE pH  SICH- AT | (191 X SPIp 1N WIS SRS 6970
ACF | (9 X =H

A: IPRIEG R S

B: ERIEGICIY)

C: RS GO

D: ARSEN (F- T




Topic:

Chemistry-Section B

Item No:

81

Question ID:

1269481

Question Type:

Numeric Answer

x’ g WINIIE DFHUGH (0,) 200 g VTN (Ne) T 5T N=ARTI T4
ffeTS® PN 0, TS Ne T 0=F 519 27 25 bar | AP GHO ATE

Question: WO (WTNT SRRF 19 20 bar | *x’ F W RE |
WWWW 0, ¥=32 gmol ..
Wel§ ©9 Ne =20 g mol!]

Topic: Chemistry-Section B

Item No: 82

Question ID: 1269482

Question Type:

Numeric Answer

Question: Pl
sp~d” TSR] Y[ DI/ ATHNT NI =e :
Topic: Chemistry-Section B
Item No: 83
Question ID: 1269483

Question Type:

Numeric Answer

1.80 ¢ A FTR] 62.5 cm’ SUFETE [IETaTE 29 W HAL51S (2% (24T 6ral 155.1 K.

ATAIVEESIZTA o mol .
(e =IiTg ; SR 29 156.0 K.

Question:
g 299 0.80 g em”.
BYFAR BT TR 3¢ 377 2.00 K kg mol™}]
Topic: Chemistry-Section B
Item No: 84
Question ID: 1269484
Question Type: | Numeric Answer
4B (FTES A,

Question:

Cu(s) | Cu2™(0.001M) | Ag™ (0.01M) | Ag (s)
208 K@ (FIY [0 (I TIW 0.43 V | Cu?™/Cu T AN R(@FHG (4949

sffsmey « 1072 vI ((mw ey

2.303RT
Given : E© —0.80 V and
Ag+ [Ag

=006V




Topic: Chemistry-Section B
Item No: 85
Question ID: 1269485
Question Type: | Numeric Answer
4fR (TR 1pg TR (TR1 (ST G X 9 GRS 30 29, ©IF
Question: JOTE I A=HT 50RO FR | (I (TR X T AR 100 IR 95w
g GICE S S [ ttes
[T =R : In 10 = 2.303; log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1269486

Question Type:

Numeric Answer

F A0S ST OE] W ATV S (TMF Na[Co(bpy)Cl,] S =

Question:

Topic: Chemistry-Section B
Iltem No: 87

Question ID: 1269487

Question Type:

Numeric Answer

weTw (I P99 3910 (Of6 9 9 ARGEE @[l

Question: H,S0; . H,S0, . H,$,04 and H,S,0-. 9% W FHARGAEE S0, (AT,
(0-0) A YH D H ARG FYT = -

Topic: Chemistry-Section B

Iltem No: 88

Question ID: 1269488

Question Type:

Numeric Answer

AGT 1.84 mg T ARIEGF AP G5 <X T VI IE AHIEGF ©F 92.0

Question: g/mol. & STP = MUH 1.344 mL H, (51| (31 X’ © Y] JeTHRITF
= EEEEH AN =+ |
Topic: Chemistry-Section B

Item No:

89




Question ID: 1269489

Question Type: | Numeric Answer

(+) Ph(C=0)C(OH)(CN)Ph ¥ HCN ¥ (570© (I H1® B8 A (Z4T
Question: (RSTESTHCETEE S =
[ﬂ@ Ph Elhc_wl— = CﬁHi-]

Topic: Chemistry-Section B

Item No: a0

Question ID: 1269490

Question Type: | Numeric Answer

Question: SRR NP TP [0 © 219 TS T |® TR |




